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Jull marks. for the questions.

Answer either in_English or in Assamese.

1. Answer the following questions : 1x8=8
oo ePPTRd Bed i ¢

(a) Who proposed the concept of
‘Geographical Cycle’?

‘CSINGERE bR A9l (I SoRpISReE ¢

(b) Growth of nature-centric geography laid -
~ the foundation of

(i) anthropological geography
(ii) geombrphology

(iii) physical geography

(iv) environmental geography
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(H) TP Reaw
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Which one of the following is not a
branch of Physical Geography ?

i) Climatolo'gy

(ii) Geomorphology
(iii) Soil Geography

. (iv) Applied Geography

BTG T N (P! M AP ot
I T 2
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i) o-ogfe Reem

(@) eI graie

(iv) AT ol

Who proposed . the theory of
Uniformitarianism ?

ROl SGUO! (PR I5Rp13 R 2
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(é) The popular name of Southern Ocean is

(i) Indian Ocean
(i) Arctic Ocean
(ii) Antarctic Ocean
(iv) Atlantic Ocean

v TR TR AN (R

) oRe TR

(i) TN SRR
(iii) TOIE T2

(iv) AN A

The term ‘Ecology’ comes from the two
Greek words

(i) oikos and logos

fi) okios and logos

(iij) oikos and logy

(iv) okios and logus

<IfRI%S Reai’ *weo! 7ot A =171 =1 Wiz
(i) oikos WF logos

(i) okios W= logos

(i) oikos ®F logy

(iv) okios Sl¥ logus
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(g)

(h)

The trade wind is a type of
() planetary wind

(i) seasonal wind

(iti) sub-polar wind

(iv) polar wind

. e ToIT G qme

() e 3o

(i) IgEe Ioiz

(i) ©o TR Jelg

(iv) GRTA TorR

Out of the total in.coming solar

radiation, the reflected back radiation

from the atmosphere and the earth’s
surface is '

6 25%
(i) 45%
(i) 55%
(i) 35%
AR o 5 BT Rk oo, Ages
W QR o1 efowre et Rt s
== ~
6 25%
(i) 45%
(i) 55%
fiv) 35%
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2. Answer any six questiohs from the following :

2x6=12

To TR S Ricrear =ED ek Tes T ¢

(@)

(b)
(c)
(@

2

(9)

What do you mean by the term ‘land-
form’?

Yo W R @l ? |

Give a definition of physical geography.
P wraeR «fo e fa |

What is insolation ?

G ©lsf 2

Name any two warm ocean currents.
Rt 751 B Aafw Glhros A vl
What is peneplain ?

ARG PR QAL

Give two exainiples_ of precipitation.
SYETFAT o1 Sz |

What do you mean by the term
‘Environment’ ?

- AR e [ g

(h) Define biodiversity.

e e A
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() Why does wind blow ?
Jorg 57 3w

(i) Cite examples of any two cold ocean
currents.

701 Mot TR Girew Szt T |

3. Answer ahy Jour questions from the following :
. - 5x4=20
O SPTIRA Sl Ricpizan bifebT ede e T o
(@) Trace the growth of nature-centri

geography. )
APIO- T Gt R SifeR 3ot v |

(b) Explain the relation between
temperature and pressure.

Tal9 WIF: AT GIoR WS T G| 7 |

(c) Write a note on the importance of study
- of Biogeography:.

RGeS GG TIE afS (Bret el |

(d) What is catastrophism ? State how the
catastrophic events bring about
changes on the surface of the earth.
_ | ‘ 1+4=5
ST 1 2 eI SRR gopa e
ARTE A TR @7 R e w1
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(e)

(9)

(v

How do ocean currents originate ?
Explain. ‘

E Gl @EE R T2 I 3= |
Discuss about the interdisciplinary
nature of physical geography.

APRET ST RRTTS 5[ 7=oIF ST
Sl

Explain the heat budget of the earth.
with a neat diagram.

%R Ba =i fRFa ee-arss g =)

What is ‘biosphere? ~ State its
characteristics.

Ges 52 2 RSP S =i

Answer any two questions from the following :

(a)

(b)

10x2=20

o NPT S Rzl g e S

Discuss the meaning and scope of
physical geography.

2T GUAPR oY A =I5 Seioa 1 |
Explain how landforms originate
according to W. M. Davis. -
W.M. Davisd ¥(® GORRR @I B 21
A F |
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(c)

Describe the pressure\ belts and wind
systems on the earth with suitable

diagrams. 5+5=10
+{fATS IR Bivl TR B JOIE TFF B AP
39 0

(d) Discuss the scope and significance of
oceanographic studies. 5+5=10
T R SER AR S Slesif T
I [GIPTIC RN

(e) Discuss. the elements and functions of
ecosystem with examples. 4+6=10
TrIzaePiR. AREISE SomenR W -
A TIE SHCEIG F1
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